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. o . =& (Kg/m?
K05« GaE s = ,ﬂ(ﬂg )

LWDXxSWD mm W mm 0.1 0.2 0.1 0.2 0.1 0.2
0.1 0.31 035 0.10

1x0.5
0.2 0.63 0.71 021
0.1 0.26 0.29 0.09
- 0.2 0.52 0.59 0.17
0.1 0.26 0.29 0.09

1.5x0.6
0.2 0.52 0.59 017
= 0.1 0.22 0.25 0.07
A 0.2 0.45 0.51 0.15
0.1 0.20 0.23 0.07

1.5x0.8
0.2 0.39 0.44 0.13
0.1 0.16 031 0.18 035 0.05 0.10
0.2 0.31 0.63 035 0.71 0.10 021
2x1 03 0.94 1.06 031
04 1.26 1.42 0.42
0.5 1.57 1.77 0.52
0.1 0.10 021 0.11 0.24 0.03 0.07
9%1°5 0.2 021 0.42 0.24 0.47 0.07 0.14
0.3 0.63 0.71 0.21
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KEGE x JEREE 1R
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N i jis|
LWDxSWD mm W mm 0.1 0.2 0.3 0.1 0.2 0.3 0.1 0.2 0.3
0.4 *k*k 0.84 *k* *k*k 0.95 *k*x *k% 0.28 *k*
2X1'5 0.5 *k% 1.05 *k% *kk 1'19 *k%k *k% 0.35 *k%
0.1 0.10 0.21 ulsas 0.11 0.24 s 0.03 0.07 ik
0.15 *k*k *k*k 0.47 *k%k *k* 0.53 *k% *k% 0.16
0.2 0.21 0.42 o 0.24 0.47 e 0.07 0.14 ik
315 0.3 o 0.63 0.94 s 0.71 1.06 g 0.21 0.31
0.4 - 0.84 1.26 s 0.95 142 — 0.28 042
0.5 o 1.05 1.57 — e 177 X 0.35 0.52
0.8 *k*k *k*k 2.51 *k*k *k*k 2.84 *k* *k* 0-84
1 *k% *k%k 3'14 *k%k *k% 3.55 *k% *k% 1.05
0.1 0.08 0.16 e 0.09 0.18 Ak 0.03 0.05 i
0.15 *k*k *k*k 0.35 *kk *k%k 0.40 *k% *k*k 0-12
0.2 0.16 0.31 22 0.18 0.35 i 0.05 0.10 =
30 0.3 i 047 0.71 = 0.53 0.80 i 0.16 0.24
0.4 o 0.63 0.94 B 0.71 1.06 it 0.21 031
0.5 il 0.79 1.18 *EX 0.89 1.33 = 0.26 0.39
0.8 *k% *kk 1'88 *k%k *k% 2.12 *k% *k% 0.63
1 *k*k *k*k 2.36 *k*k *k%k 2.67 *k* *k*k 0.79
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KEEE x FS8kEE RS A e a
LWDxSWD mm W mm 0.2 0.3 0.4 0.2 0.3 04 0.2 0.3 04
01 016 - s 0.18 — - 0.05 - .
0.15 p— 0.35 o . 0.40 . - 012 -
0.2 0.31 e 0.63 0.35 e 0.71 0.10 — 0.21
40 0.3 0.47 0.71 bl 0.53 0.80 i 0.16 0.24 e
0.4 0.63 0.94 1.26 0.71 1.06 142 0.21 0.31 042
0.5 0.79 118 1.88 0.89 1.33 2.12 0.26 0.39 0.63
0.8 Fhx 1.88 2.51 Kk 2.12 2.84 kkk 0.63 0.84
1 Fhx 2.36 3.14 kK 2.67 B55 Bt 0.79 1.05
01 0.13 o " 0.15 _— i 0.04 - i
0.15 -~ 0.28 - o 0.32 - ik 0.09 -
0.2 0.25 — 0.50 0.28 ik 0.57 0.08 kit 0.17
0.3 0.38 0.57 ik 0.43 0.64 e 0.13 0.19 wEE
Ax2-> 04 0.50 0.75 1.00 0.57 0.85 1.13 0.17 0.25 0.33
0.5 0.63 0.94 151 0.71 1.06 171 0.21 0.31 0.50
0.8 e 151 2.01 L 171 2.27 2l 0.50 0.67
1 Rk 1.88 2.51 e 2.12 2.84 ki 0.63 0.84
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k@ﬂﬁ X %EE‘ZEE *Eﬁ 7F'§§§"E|>—S| %E.I %EII

LWDxSWD mm W mm 0.2 0.3 0.4 0.5 0.2 0.3 0.4 0.5 0.2 0.3 0.4 0.5

0.1 0.13 *kk *kk *kk 0.15 *kk *kk *kk 0.04 *kk s *kk

0.15 *kk 0'28 *kx *k% *k% 0.32 *k% *k%k *k% 0.09 *k%k *k%k

0.2 0.25 e 0.50 ek 0.28 e —— f— As% 0.17 L

0.3 038 0.57 — 094 043 0.64 *** 106 0.13 0.19 s 031

5x2.5 0.4 050 075 1.00 ** 057 085 113 —1a 0.25 0.33 —

0.5 063 094 151 157 071 106 171 177 021 031 0.50 0.52

0.8 rE 151 201 251 e 171 227 284 o 0.50 0.67 0.84

1 o 188 251 314 ek 212 284 355 S 0.63 0.84 1.05

2 *k%x *kx *kk 6.28 *k% *k% *k% 7'10 *k% *k%k *k%k 2.09

0.1 0.10 *kk *kk *kk 0.11 *kk *kk *kk 0.03 *kk S Kk

0.15 *k*k 024 *k*k *k*k *k*k 0.27 *k*k *k%k *k*k 0.08 *k%x *kk

0.2 0.21 o 042 R 0.24 047 b A 1 — 0.14 e

0.3 031 047 o 079 035 0.3 %089 010 0.16 SER 0.26

5x3 0.4 042 063 0.84 *** 047 071 095 s 0.14 0.21 0.28 xR

0.5 052 079 126 131 059 089 142 148 0.17 0.26 0.42 0.44

0.8 010 126 167 209 011 142 189 236 0.03 042 0.56 0.70

1 o 157 209 262 177 236 296 — 0.52 0.70 0.87

2 *k*k *k*k *k*k 5.23 *k*k *k%k *k*k 5.91 *k*k *k%k *k%k 1.74
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KEE x ;&R 1E5 R = g
LWDxSWD mm W mm 02 03 04 05 06 02 03 04 05 06 0.2 0.3 04 05 0.6
01 010 *k% *k% *k%* *k%* 011 *k%* *k% *k% *k% 003 *k* *k* *k* *k*%
015 *k*k 024 *k*% *k*% *k*% *k% 02 *k% *k% *k* *%k*% 008 *%k% *%k% *k%
0.2 021 *** 042 *** (024 047 ** *®x (07 *** (014 = *ik
0.3 031 047 *** 079 094 0.35 053 089 106 010 0.16 *** 0.26 0.31
63 04 042 063 084 *** *** (047 071 095 *** ** (014 021 028 *** R
0.5 052 079 126 131 157 059 089 142 148 177 017 026 042 044 0.52
0.8 *** 126 1.67 209 251 ** 142 189 236 284 *** (042 056 070 084
1 ¥ 157 209 262 314 ** 177 236 296 355 *** (052 0.70 0.87 1.05
2 *k*% *k* *k*k 523 628 *k% *%k*% *k% 591 710 *%k% *%k*% *%k% 174 209
3 *k% *k% *k%* *k% 942 *k% *k%* *k% *k% 106 *k* *k* *k* *k* 314
01 008 *k% *%k*% *k*% *%k*% 009 *%k% *k% *k% *k% 003 *%k% *%k% *%k% *%k%
015 *k*% 018 *%k*% *%k*% *%k% *k% 020 *k% *%k% *%k% *%k*% 006 *%k% *%k% *k%
02 016 *k% 031 *k%* *k%* 018 *k%* 035 *k% *k* 00 *k*k 010 *k* *k%
6xd 0.3 024 035 ** (059 071 027 040 *** 067 080 00 012 *** 020 0.24
04 031 047 063 *** *** (35 053 071 *** ** (010 016 021 *** kkid
0.5 039 059 094 098 118 044 067 106 111 133 013 020 031 0.33 0.39
0.8 *** 094 126 157 188 *** 106 142 177 212 *** 031 042 052 0.63
1 *** 118 1.57 196 236 *** 133 177 221 267 *** 039 052 0.65 0.79
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LWDxSWD mm W mm 04 0.5 0.6 0.8 0.4 0.5 0.6 0.8 0.4 0.5 0.6 0.8
6xd 2 k393 471 — k444 532 == ki 131 1.57 i
3 ko >k 7.07 ok ko *k% 709 *xk *xk *kk 236 Kok
0.2 0.31 ok *kk xx% (35 ok ok w010 ok ok Kk
0.3 ** 059 071 — 067 0.80 TEL 0.20 0.24 Sk
0.4 0.63 i g 126 071 = k142 0.21 e folak 0.42

0.5 094 098 118 106 111 1.33 — U= 0.33 0.39
8xd 0.8 126 157 188 251 142 177 212 284 042 0.52 0.63 0.84
1 157 196 236 314 177 221 267 355 0.52 0.65 0.79 1.05
1.5 *k%k *kk *kk 4.71 *k%x *k%k *k%x 5.32 *k% *k% *k% 1-57
2 k393 471  6.28 k444 532 7.10 it 131 1.57 2.09
3 ol o 707 942 sk k799 1064 dilidy 2.36 3.14
*k%x *k% *k%k 12.56 *k%x *k%k *k%x 14.19 *k% *k% *k% 4.19
0.2 0.25 *kk *k%k *k%k 0.28 *k%k *k%k *k% 0.08 *k*k *k% *k%k
0.3 ** 047 057 2 ** 053 0.64 i~ _— 0.16 0.19 _—
855 04 0.50  *** e 1.00 057 i 113 Ol il 224 0.33

0.5 075 079 094 *** 085 089 1.06 S 0.26 031 E2E

0.8 100 126 151 201 113 142 171 227 033 0.42 0.50 0.67

1 126 157 188 251 142 177 212 284 042 0.52 0.63 0.84
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LWDxSWD mm Wmm 04 05 06 08 10 04 05 06 08 10 04 0.5 0.6 0.8 1.0
1.5 *%k% *k*% *k% 3.77 *k% *k*% *k*% *k*% 4.26 *k*% *k*% *k* *k*% 1.26 *k*

855 2 ¥ 314 3777 502 ** x¥* 355 426 567 ** <% 105 126 167 ***

3 xxk kxk GGG LA Axk  kkx wkt 638 85 Rk mkx  kkx ]88 5] k%

4 *%k% *k*% *k% 10.1 *k% *k*% *k* *k*% 11.4 *k*% *k*% *k* *k*% 3.35 *k*

02 025 *+%  %kx  wkx wkx ()08 %k Awk wkk amk ()8 ARk kkx kkk  kkw

0.3 ¥** 047 057 F* F 0.53 0.64 *x= = &=xiuaE=E() ] (6 R0 N1 B ot

0.4 0.50 *k*% *%k% 1.00 *k* 0.57 *k* *k*% 1.13 *k*% 0.17 *k* *k*% 0.33 *k*

0.5 075 079 094 ** 157 085 089 106 *** 177 025 026 031 *** (052

0.8 1.00 126 151 201 ** 113 142 171 227 ** 033 042 050 0.67 ***

1 126 157 188 251 314 142 177 212 284 355 042 052 063 084 1.05

15 Wk wex % 377 471 %% k% w426 532 4% ke % 126 157

106 2 =+ 314 377 502 628 ** 355 426 567 710 ** 105 126 167 209

3 W% o+ 565 754 942 ¢ w+ 638 852 106 o+ 188 251 314

4 *k%k *k* *k%k 10.1 12.6 *k*k *k% *k*k 11.4 14.2 *k%k *k%k *k%k 3.35 4.19

5 *k*k *k*k *k*k *k*k 15.7 *k% *k* *k% *k% 17.7 *k% **k% *k% *k% 5.23

6 *k*k *k*k *k*k *k*k 18.8 *k* *k*k *k*% *k% 21.3 *k% **k* *k% *k% 6.28

8 *k%k *k* *k%k *k%k 25.1 *k*% *k% *k*k *k%k 28.4 *k%k *k%k *k%k *k*k 8.37

10 *k%k *k* *k%k *k*k 31.4 *k% *k%k *k* *k% 35.5 *k% *k%k *k% *k% 10.5
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KHEE X STHEE R — = =

LWDxSWD mm W mm 04 0.5 0.6 0.8 0.4 0.5 0.6 0.8 0.4 0.5 0.6 0.8

0.2 021 kK *kk *kk 0.24 *k% *kk *kk 0.07 *kk *kk *kk

0.3 s 039 047 222 ** 044 0.53 i - 0.13 0.16 e

0.4 042 e i 084 047 “a 095 014 — Ak 0.28

0.5 063 065 0.79 071 073 0.89 ot 0.21 0.22 0.26 Lok

0.8 084 105 126 167 09 119 142 189 0.28 0.35 0.42 0.56

10x6 1 105 131 157 209 119 148 17/ 236 035 0.44 0.52 0.70
1.5 *k%k *k%k *kk 3.14 *k%x *k%k *k%k 3.55 *k% *k%x *k%x 1.05

2 o 262 314 419 k296 355 473 " 0.87 1.05 1.40

3 — - 471 6.28 2% k532 710 ] o o 2.09

4 *k%k *k%k *k% 8.37 *k%k *k%x *k%x 9.46 *k*k *k%x *k%k 2.79

0.3 o 039 047 i ** 044 0.53 - — 0.13 0.16 —

0.4 ok *xk *xk 0.84 ok kK x% (05 *xk kK ok 0.28

0.5 rE 065 0.79 lat ol iy £ o . s 0.22 0.26 ===

19%6 0.8 rE 105 126 167 ol — . R 7 e A 0.35 042 0.56
1 FHH 131 157 209 k148 177 2.36 . 0.44 0.52 0.70

15 *xk *kk *xk 314 - ko xx% 35§ *xk ok ko 1.05

2 e 262 314 419 k296 355 473 i 0.87 1.05 1.40

3 ek k% 471 628 *** w533 710 %% % 157 209
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LWDxSWD mm W mm 05 06 08 10 12 15 05 06 08 10 12 15 05 06 08 10 12 15
12X6 4 *k%* *k% 8.4 *k%* *k%* *k% *k% *k%* 9.5 *k% *k% *k* *k* *k* 2.8 *k% *k% *k*
0.3 0'3 0.4 *k% *k*k *k*k *k% 0.3 0'4 *%k*% *k% *k% *%k% 0.1 0.1 *%k% *k% *k% *%k%

0.4 *k*k *k% 0.6 *%k*% *k*% *k% *k% *%k*% 0'7 *k% *k% *%k*% *%k% *%k% 0.2 *k*% *k* *k%

0.5 0.5 0.6 *k% *k% *k%* *k% 0.6 0.7 *k*k *k% *k% *k* 0.2 0.2 *k% *k% *k% *k*

08 08 09 13 ** ** x (00 11 14 ** =+ + (3 (03 (04 *** #r we

12x8 1 10 12 16 ** *+ # 11 13 18 ** ** o (3 04 05 *** wx e
1.5 *k% *k% 2.4 *k% *k% *k% *k% *k* 2.7 *k% *k% *k* *k* *k* 0.8 *k% *k% *k*

2 20 24 31 e e D) 27 36wk e w7 (8 11 R ek e

3 *k*k 3.5 4.7 *k*% *k*k *k% *k% 4'0 5'3 *k% *k% *%k% *%k% 1.2 1.6 *%k% *%k%* *%k%

4 *k% *k% 6.3 *k% *k% *k% *k% *k%* 7.1 *k% *k% *k* *k* *k* 2.1 *k% *k% **%

0.3 0.4 0.5 *k% *k% *k%* *k% 0.4 0.5 *k%* *k% *k% *k*k 0.1 0.2 *k% *k% *k% *%k%

0.4 *k*% *k% 08 *%k*% *%k*% *k% *k% *%k*% 1.0 *k% *k% *%k*% *%k% *%k% 0.3 *%k%* *%k% *%k%

05 07 08 ** 13 ** % (7 09 ** 15 *+ #x 02 (3 *+ 04w e

0.6 *k% *k% *k% *k% 1.9 2.4 *k% *k%* *k* *k% 2.1 2.7 *k* *k* *k% *k% 0.6 0.8

ot 0.8 11 13 17 ** * #0x 1) 14 19 ** # k04 04 06 ***  wwx  wex

1 13 16 21 26 ** ** 15 18 24 30 ** ** 04 05 07 09 =+ w=

1.2 *k*k *k% *k% *k*k 3'8 4.7 *k% *%k*% *%k% *k% 4.3 5.3 *%k*% *%k*% *k% *%k% 1.3 1.6

1.5 *k%* *k% 3.1 3.9 *k%* *k% *k% *k% 3.6 4.4 *k% *k* *k* *k* 1.1 1.3 *k% *k%
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KEE x o8iE 185 R pe
LWDxSWD mm W mm 05 06 08 10 12 15 05 06 08 10 12 15 05 06 08 10 12 15
2 26 3. 42 52 63 78 30 36 47 59 71 89 09 11 14 17 21 26
3 % 47 63 79 94 12 ** 53 71 89 10 13 ** 16 21 26 31 39
4w ek 8410 13 16 ** 4% 95 12 14 18 *** xk* 28 35 42 52
1546 5 wkx xk ek 13 16 20 <% ek xkk 14 18 22 sk wkx kk 44 59 6.6
6 wex wex xxk 1 10 24 %k wxx wek 18 2] 27 %+ sk s 52 53 7.9
8 *k% *k*% *k*% 21 25 31 *k*% *k% *%k% 24 28 35 *k* *k* *k*% 7.0 8.4 10
10 wex wex wxx 26 31 39wk ks xr 30 35 44 ** wex w87 10 13
03 03 04 =+ #% %0 »x (3 04 ** %k mr w01 01 o me mee e
0.4 *k% *k*% 0.6 *k% *k% *k*% *k*% *k% 0.7 *k*% *k*% *k* *k* *k* 0.2 *k*% *k*% *k*
05 05 0.6 ** 10 * *x (0 (7 ** 11 *x ke 0D (D Kk (3 kkx  xkx
0.6 **%  *xx wkx wkx 14 18 *Ak kkx wkx kkk 1@ 00 Ak %kk wkx w% 05 06
08 0.8 09 13 ** %% xkx Qg 1] 14 ** *kx =% (03 (03 (04 *k* ek e
15x8 1 10 ** 16 20 ** kxk ]] ke ] 8 DD kxk xkk (3 kkk (5 ()7 Rk kkk
10 wkx wkx xkk wkk 08 3.5 akx kkk kkk Kk 30 A0 *E KAk *kk axk 00 12
1.5 *k% *k*% 2.4 29 *%k% *k*% *k*% *%k% 2.7 3.3 *k*% *k* *k* *k* 0.8 1.0 *k*% *k*
2 20 12 31 39 47 59 22 13 36 44 53 67 07 04 11 13 16 20
3 %% 24 47 59 71 88 ** 26 53 67 80 10 *** 08 16 20 24 29
4  »* 35 63 79 94 12 ** 40 71 89 10 13 ** 12 21 26 31 39
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LWDxSWD mm W mm 05 06 08 10 12 15 05 06 08 10 12 15 05 06 08 10 12 15
5 *k* *k%k *k%k 9.8 12 15 *k%k *k* *k* 11 13 17 *k* *%k%x *%k% 3.3 3.9 4.9

I 6 kkx xRk kkk ]2 14 18 **k Axx kkk 13 16 20 ** *xx *xx 39 47 6.0
3 kkk xRk kkk 1@ 1Q D4 *Hk  kxk  kkk |8 Q] Q7 KKk kkk  *xx L) ©3 79

10 *k* *k%k *k%k 20 24 29 *k%k *kk *k%x 22 27 33 *k%k *%k% *k%x 6.5 7-9 9.8

0.3 0.2 03 ** *kx  kkk bk ()3 ()3 KRk KEE  kkk  kkk ()] ()] KKK kkk  kkk Kk

0.4 Kk kkk ()G kkk kKK kKK kKK KKk () B KKk kkk kKK kkE  kkk () KKK Rk kkk

0.5 04 05 *** (8 ** ** (04 (5 ** (09 ¥R 02E

0.6 *k* *k% *k% *k* 1.1 1.4 *k% *k* *%k% *k% 1.3 1.6 *k% *%k% *%k%x *k%k 0.4 0-5

0.8 06 0.8 1.0 *** *x k(7 (08 1.1 ** ¥ k) S (S

1 08 09 13 16 *** ** (09 11 14 18 ** ** (g3 (03 04 05 *** *=

1.2 *k* *k% *k% *k* 2.3 2.8 *k%k *k* *k* *k% 2.6 3.2 *k% *k%x *k%x *k% 0.8 0.9

15x10

1.5 *k* *k* 1.9 2.4 *k* *k% *k% *k* 2.1 2.7 *k% *%k% *k%k *%k% 0.6 0.8 *k%k *k%k

2 16 19 25 31 38 47 18 21 28 35 43 53 05 06 08 10 13 16

3 **x 28 38 47 57 71 *** 32 43 53 64 80 *** (09 13 16 19 24

4 ¥k ok 50 63 7.5 94 ¥ xkx G 7 g 85 11 R R

5 *k* *k% *k% 79 9.4 12 *k* *k* *k* 8.9 11 13 *k% *%k%x *k%x 2.6 3.1 3.9

6 kxx kkk kkk Q4 1] 14 **X Axx kkx 1] 13 16 *** **x  *xx 31 38 47

8 kxkk kkk kkk 3 15 ]Q Rkk  kxx  kkk |4 17 Q] ***  *kkx 4% 4D 50 63
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LWDxSWD mm W mm 05 06 08 10 12 15 05 06 08 10 12 15 05 06 08 10 12 15
15x10 10 #* o o 16 19 24 *wx wk ke ]g 21 Q7 s s s 52 63 79
0.3 *k*% 0.3 *k% *k*k *k*k *k% *k% 0'3 *%k*% *k% *k% *%k% *%k% 0.1 *%k% *%k% *k% *%k%

0.4 *k*k *k% 0.5 *%k*% *k*% *k% *k% *%k*% 0'6 *k% *k% *%k*% *%k% *k% 0.2 *%k*% *k% *%k%

0.5 *k%* 0.5 *k% 0.8 *k%* *k% *k% 0.5 *k*k 0.9 *k% *k* *k* 0.2 *k* 0.3 *k% *k*

0.6 *k*k *k% *k% *%k*% 1'1 1.4 *k% *%k*% *%k*% *k% 1.3 1.6 *%k% *k% *%k*% *%k% 0.4 0.5

0.8 *k*k 0.8 1.0 *k*% *k*k *k% *k% 0'8 1'1 *k% *k% *%k% *%k% 0.3 0.3 *%k*% *%k% *%k%

1 % 09 13 16 ** *x s 1] 14 18 % w o 03 04 05 e we

1.2 *k*k *k% *k% *%k*% 2'3 2.8 *k% *%k% *%k% *k% 2.6 3.2 *%k% *%k% *%k% *%k% 0.8 0.9

20X10 1.5 *k*k *k% 1.9 2'4 *k*k *k% *k% *%k*% 2'1 2.7 *k% *%k% *%k% *%k% 0.6 0.8 *%k% *%k%

2 %+ 19 25 31 38 47 ** 21 28 35 43 53 ** 06 08 10 13 16

3 * 28 38 47 57 71 ** 32 43 53 64 80 ** 09 13 16 19 24

4 o w50 63 75 94 v+ 57 71 85 11 % 17 21 25 31

5 *k%* *k% *k% 7.9 9.4 12 *k% *k*k *k*k 8.9 11 13 *k* *k% *k* 2.6 3.1 3.9

6 *k*k *k% *k% 9'4 11 14 *k% *%k*% *%k*% 11 13 16 *%k% *k% *%k% 3.1 3.8 4.7

8 *k*% *k% *k% 13 15 19 *k% *%k% *%k*% 14 17 21 *%k*% *k% *%k*% 4.2 5.0 6.3

10 *k%* *k% *k% 16 19 24 *k% *k%* *k%* 18 21 27 *k* *k% *k*k 5.2 6.3 7.9

20X15 0.3 *k%* 0.2 *k% *k% *k%* *k% *k% 0.2 *k% *k% *k% *k* *k* 0.1 *k* *k* *k% *k*
0.4 *k*k *k% 0.3 *k*% *k*k *k% *k% *%k*% 0'4 *k% *k%* *%k% *%k% *%k% 0.1 *%k*% *k% *%k*%




=R
=l — 8 (Kg/m’)
KEE x ;&R 1E5 R = ta
LWDxSWD mm W mm 06 08 10 12 15 06 08 10 12 15 06 0.8 1.0 1.2 15
05 031 *k% 052 *k%* *k%* 035 *k%* 059 *k% *k% 010 *k% 017 *k% *k*
06 *k*k *k* *k*% 075 094 *k% *%k*% *k% 085 106 *k* *k% *%k% 025 031
08 05 067 *k*% *k*k *k*% 057 076 *k% *k% *k% 017 022 *k*% *k*% *k%
1 063 084 105 *** ***x (071 095 119 *** ** (021 028 035 *** EXE
12 *k*% *k% *k*k 151 188 *k% *%k*% *k% 171 212 *k% *k% *k% 050 063
15 *k*k 126 157 *k*% *k*% *k% 142 177 *k%* *k% *k% 042 052 *k%* *k%k
20x15 2 1.26 1.67 209 251 314 142 189 236 284 355 042 056 0.70 084 1.05
3 1.88 251 314 377 471 212 284 355 426 532 063 084 105 126 1.57
4 ¥**% 335 419 502 628 *** 379 473 567 710 *** 112 140 167 2.09
5 *kk o k%% 523 628 7.85 ***  x* 591 7.10 887 *** & 174 209 2.62
6 Rk xRk 628 754 942 ¢+ w710 852 106 *** k209 251 314
8 Rk oxkk 837 10, 126 ¥ ¥ 946 114 142 k279 335 419
10 FRE k%105 126 1577 ** ¥ 118 142 177 *** ¥k 349 419 523
04 *k*k 042 *k*k *k*% *k*k *k% 047 *k% *k% *k* *%k% 014 *%k% *k* *%k%
08 *k*% 084 *k*% *k*% *%k% *k% 095 *k% *k% *k% *k%* 028 *k* *k% *k%
25X12 1 *k% 105 *k%* *k%* *k%* *k% 119 *k% *k% *k% *k% 035 *k% *%k% *k%k
15 *k*k 157 *k*k *k*% *k*k *k% 177 *k% *k% *k% *%k% 052 *%k* *%k% *k%
2 *k*% 209 *k*k *k*% *k*% *k% 236 *k% *%k% *%k% *%k% 070 *k% *%k% *k%k




AR

=EA,
=2 (Kg/m?)

'IKEEEE X %EE‘ZEE 1E5 7F'§§§$|>_S| %E.I %E‘I

LWDxSWD mm W mm 0.8 1.0 1.2 1.5 0.8 1.0 =2 1.5 0.8 1.0 1.2 1.5

3 3.14 *k*k *k*k *k* 3.55 *k* *k* *k%x 1.05 *k*k *k%k *k%

25X12 4 4'19 *k%x *k*x *k%x 4.73 *k%x *k%x *kk 1.40 *k*k *kk k%%
0.4 0'33 *k*x *k*k *k%x 0.37 *k%x *kk *kk 0.11 k%% *kk *k*x

0.8 0.67 *kk *k%k *k%k 0.76 *k%x *k%k *k% 0.22 *k%k *k% *k%x

1 0.84 *k%k *k% *k%x 0.95 *k%x *k%x *k% 0.28 *k%x *k*k *k%k

25X15 1.5 1'26 *k% *k% *k%x 1.42 *k%x **k%x *kk 0.42 *k% *kk *k%
2 1'67 *k*x *k*% *k%x 1.89 *k%x *k%x *kk 0.56 k%% *kk k%%

3 2.51 *k%k *k%k *k%k 2.84 *k%x *k%x *k% 0.84 *k%k *k%k *k%x

4 3.35 *k*k *k*k *k* 3.79 *k* *k*k *k%k 1.12 *k% *k%k *k%

0'4 0'33 *kk *kk *k% 0.37 *k% *k% *k%k 0.11 *k% *k%k *k%

0.5 *kk 0'52 *kk *k% *k% 0.59 *k% *k%k *k% 0.17 *k% *k*

0.6 rE rE 075 094 o *** 085 1.06 e — 0.25 031

0.8 0.67 *kk *kk *kk 0.76 *kk *kk *kk 0.22 *kk s *kk

30x15 1 0.84 1.05 *kk Fokk 0.95 1.19 *kk *kk 0.28 0.35 *kk *kk

12w w151 188 R w ]7]  21)  * % 0:50 il

15 126 157 e w143 177 ke a4

2 167 209 251 314 189 236 284 355 0.56 0.70 0.84 1.05

3 251 314 377 471 284 355 426 532 0.84 1.05 1.26 1.57




=R
=l — B8 (Kg/m?)
KEE x ;&R 1E5 P =
LWDxSWD mm W mm 0.8 1.0 1.2 15 0.8 1.0 1.2 1.5 0.8 1.0 1.2 1.5
4 3.35 419 5.02 6.28 379 473 5.67 7.10 1.12 1.40 1.67 2.09
5 e 5.23 6.28 7.85 Lk 591 7.10 8.87 AR 1.74 2.09 2.62
30x15 6 il 6.28 754 942 il 7.10 8.52 10.64 " 2.09 2.51 3.14
8 . 8.37 10.05 1256 L 946 1136 14.19 ik 2.79 3.35 419
10 il 1047 1256 15.7 e 11.83 1419 17.74 S 3.49 419 575
04 025 *k*% *k*% *k% 028 *k% *k% *%k*% 008 *%k% *%k% *%k*%
05 *k%* 039 *k%* *k% *k% 044 *k% *k* *k* 013 *k* *k*
0.6 FhE FhE 0.57 0.71 ki — 064 0.80 LTS L 0.19 0.24
08 05 *k*k *k*k *k% 057 *k% *k% *%k% 017 *%k% *%k*% *%k%
1 0.63 0.79 ok hik 0.71 0.89 XEX R 0.21 0.26 *Ax o
1.2 FhE FhE 1.13 141 ikt ki 1.28 1.59 ik k. & 0.38 0.47
30x20 15 0.94 1.18 i L 1.06 1.33 ki *Ak 0.31 0.39 Lkk ki
2 1.26 1.57 1.88 2.36 142 1.77 2.12 2.67 042 0.52 0.63 0.79
3 1.88 2.36 2.83 3.53 2.12 2.67 3.20 3.99 0.63 0.79 0.94 1.18
4 2.51 3.14 3.77 471 2.84 355 4.26 5.32 0.84 1.05 1.26 1.57
5 el 3.93 471 5.89 *EX 444 5.32 6.66 ki 131 1.57 1.96
6 il 471 5.65 7.07 K 5.32 6.38 7.99 s 1.57 1.88 2.36
8 e 6.28 754 942 kikE 7.10 8.52 10.64 kS 2.09 2.51 3.14




AR

=R
=l — B8 (Kg/m?)
KEE x ;&R 1E5 P e
LWDxSWD mm W mm 0.8 1.0 1.2 15 0.8 1.0 1.2 1.5 0.8 1.0 1.2 1.5
30x20 10 FhE 7.85 942 11.78 LY 887 1064 1331 s 2.62 3.14 3.93
04 025 *k*k *k*k *k% 028 *k% *k% *%k% 008 *%k% *%k% *k*%
05 *k*k 039 *%k*% *k% *k% 044 *k% *%k*% *k% 013 *k*% *k*%
0.6 FhE FhE 0.57 0.71 ok i 064 0.80 *kE dkk 0.19 0.24
08 05 *k*k *%k*% *k% 057 *k% *k% *%k% 017 *k% *k% *k%
1 0.63 0.79 i LEE 0.71 0.89 *EE i 0.21 0.26 = ——
1.2 FhE FhE 1.13 141 i S 1.28 1.59 ok i 0.38 0.47
15 0.94 1.18 i s 1.06 133 g gl 0.31 0.39 i ki
gt 2 1.26 1.57 1.88 2.36 142 1.77 2.12 2.67 042 0.52 0.63 0.79
3 1.88 2.36 2.83 3.53 2.12 2.67 3.20 3.99 0.63 0.79 0.94 1.18
4 2.51 3.14 377 471 2.84 355 4.26 5.32 0.84 1.05 1.26 1.57
5 il 3.93 471 5.89 KL 444 5.32 6.66 Xt 131 1.57 1.96
6 FhE 471 5.65 7.07 < 5.32 6.38 7.99 Gt 1.57 1.88 2.36
8 ok 6.28 754 942 hikd 7.10 8.52 10.64 L 2.09 2.51 3.14
10 ok 7.85 942 11.78 hk 8.87 1064 1331 kg 2.62 3.14 SI98
04 02 *k%* *k% *k% 023 *k% *k% *k* 007 *k% *k% *k%
4OX25 05 *k%* 031 *k%* *k% *k% 035 *k% *k* *k* 010 *k% *k%
0.6 i ok 0.45 0.57 o S 0.51 0.64 k. el 0.15 0.19




AR

=R
=l — B8 (Kg/m?)
KEE x ;&R 1E5 P =
LWDxSWD mm W mm 0.8 1.0 1.2 15 0.8 1.0 1.2 1.5 0.8 1.0 1.2 1.5
08 04 *k% *k%* *k% 045 *k% *k% *k* 013 *k% *k* *k*
1 0.5 0.63 *Ek ke 0.57 0.71 Sk i 0.17 0.21 s Sl
12 il il 0.9 113 il g 1.02 1.28 AR W 0.30 0.38
15 0.75 0.94 FhE L 0.85 1.06 o bk 0.25 0.31 ket AkE
2 1 1.26 151 1.88 113 142 171 2.12 0.33 0.42 0.50 0.63
40x25 3 151 1.88 226 283 171 2.12 2.55 3.20 0.50 0.63 0.75 0.94
4 2.01 2.51 3.01 3.77 2.27 2.84 340 4.26 0.67 0.84 1.00 1.26
5 il 3.14 377 471 kik 355 4.26 5.32 ik 1.05 1.26 1.57
6 il 3.77 452 5.65 bl 4.26 511 6.38 s 1.26 151 1.88
8 el 5.02 6.03 7.54 et 5.67 6.81 8.52 L 1.67 2.01 2.51
10 ki 6.28 754 942 g 7.10 8.52 10.64 S 2.09 2.51 3.14
06 *k*k *%k% *%k*% 079 *k% *k% *k% 089 *%k% *k% *%k% 026
12 *k%* *k%* *k%* 157 *k% *k% *k% 177 *k* *k% *k* 052
2 *k%* *k%* *k%* 262 *k% *k% *k% 296 *k* *k% *k* 087
50X18 3 *%k*% *%k*% *%k* 393 *k% *k% *k% 444 *%k% *%k% *%k% 131
4 *%k*% *k*k *k*% 523 *k% *k% *k% 591 *%k% *%k% *%k% 174
5 *k%* *k%* *k%* 654 *k% *k% *k% 739 *k* *k% *k* 218
6 *k% *k% *k%* 785 *k% *k% *k% 887 *k*k *k% *k* 262




i

=R,
=l — B8 (Kg/m?)
KEE x B8iE 185 R = g
LWDXxSWD mm W mm 15 15 15
8 10.47 11.83 3.49
i 10 13.08 14.78 4.36
0.6 0.57 0.64 0.19
1.2 113 1.28 0.38
2 1.88 212 0.63
3 2.83 3.20 0.94
50x25 4 3.77 4.26 1.26
5 471 5.32 1.57
6 5.65 6.38 1.88
8 7.54 8.52 2.51
10 942 10.64 3.14
0.6 0.47 0.53 0.16
1.2 0.94 1.06 0.31
2 1.57 1.77 0.52
50x30 3 2.36 2.67 0.79
4 314 3.55 1.05
5 3.93 444 131
6 471 5.32 1.57




i
E-3)211

=2 (Kg/m?)

KEGE x JEREE 1R

A5 ] i)
LWDXSWD mm W mm 15 2 3 4 45 5 6 15 2 3 4 45 5 6 15 2 3 4 45 5 6
8 6.3 ** ** ** ** ** ** 7.1 *%* ** *%* ** *%* *%* 2.1 *%* *%* *%* *%* *%* *%
50X30 10 7'9 *% *% *% *% *% *% 8'9 ** *%* *%* *% *%* *%* 2.6 *%* *% *%* *% *%* *%
2.47 *%x 3'5 *%* *% *% *% *% *% 4 *%* *%* *% *%* ** *% 1.2 *%* ** *% ** *%
60X22 4.5 ** ** ** 13 *%* *%* *%* *%* ** ** 14 *%* *%* ** *%* *%* *%* 4.3 ** ** *%*
5 ** ** ** ** 16 ** ** ** ** *%* *%* 18 *%* *%* *%* *%* *%* *%* 5.4 *%* *%*
2.47 *%x 3.2 *% *% *% *% *% *% 3.7 *%* *%* *% *%* *%* *% 1.1 *% ** *% *%* *%
3 *%x *%x 5.9 *% *% *% *% *% *%* 6.7 *% *% *%* *%* *% *%* 2.0 *%* *% *% *%
60X24 4.5 ** ** ** 12 ** ** ** ** ** *%* 13 *%* *%* *%* *%* *%* *%* 3.9 *% *%* *%
6 ** ** ** ** ** 20 24 ** ** ** *%* *%* 22 27 *%* *%* *%* *%* *%* 6.5 7.9
3.26 *% 3'4 ** *% *% *%* *%* *% 3.8 ** *%* *% *% *% *% 1.1 *% *%* *% ** *%
80X30 5 *%x *%x *% 10 ** ** ** *% ** ** 12 *%* *% *% *% ** *% 3.5 ** ** **
6 ** ** ** ** 14 *%* ** ** *%* *%* ** 16 *%* *%* *%* *%* *%* *%* 4.7 *%* *%
5 ** ** ** 9.8 ** *%* ** ** ** *%* 11 *%* *%* *%* *%* *%* *%* 3.3 *% *%* *%
80X32 6 *%x *%x *%x *% *% 15 ** *% ** ** ** *% 17 *%* *% *%* *% *%* *% 4'9 **
7 *% *% *% *% *% ** 21 ** *%* *%* *%* *% *% 23 *% *%* *% ** *% *%* 6.9
4.05 ** 3.5 5.3 ** ** ** ** ** 4.0 6.0 ** *%* *%* *%* *%* 1.2 1.8 ** *%* ** *%*
100X36 7 ** ** ** ** 14 ** 18 *%* ** ** *%* 16 *%* 21 *%* *%* *%* *%* 4.6 ** 6.1
9 *% *%x *%x *% ** ** 24 ** *%* *%* ** *%* *% 27 *% *%* *% *%* *% ** 7.9




i
E-3)211

REHE x JE8EE 18R

=2 (Kg/m?)

BN i =
LWDXxSWD mm W mm 3 4 4.5 5 6 3 4 4.5 5 6 3 4 4.5 5 6
5 *k% *k% 9'3 *k% *k%k *k%k *k% 10.5 *k% *k% *k%k *k% 3.10 *k%k *k%
100x38 6 A 9Q2  wek w49 A 112 Ak R 6.8 #FE g3 TN
7 *k% *k% *kk 14'5 17.4 *k%k *k% *k%k 16.3 19.6 *k%k *k% *k%k 4.82 5.78
4.05 4.77 *k% *k%k *k% *kk 5'39 *k% *kk *k% *k% 1.59 *k% *k%k *k%k *k%
100x40 6 R 942 11,8 w0 10,6 M 13,3 SR AR S
7 *k% *k% *kk *k% 16.5 *k%k *k% *k%k *k% 18.6 *k%k *k% *k%k *k%k 5.50
5 *k% *k% *k%k 7.85 *k%k *kk *k% *k%k 8.87 *k% *k%k *k% *k%k 2.62 *k%
100x50
6 *k% *k% *kk *k% 11.3 *kk *k% *k%k *k% 12.8 *k%k *k% *k%k *k%k 3.77
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